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Materials

Crochet applique pattern 

Round 1 (color 265):
Make double slipknot. Crochet 1 ch and 10 dc/sc in double slipknot, 1 slt in 
first ch, turn.
Round 2 (color 260):
* Make 4 chs, work 1 Cl + 4 chs + 1 slt in back loop of next dc/sc below, make 1 
slt in back loop of next dc/sc below; rep from *, 
make 4 more times. Fasten off.
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Super extended tr | dc = Str / Sdc:
1. Yarn over and insert hook in the next stitch, yarn over and pull up a loop. You 
now have three loops on your hook.
2. Yarn over and pull through the first loop on hook. 
3. Yarn over and pull your first two loops through.
4. Yarn over and pull through the first loop on hook.
5. Yarn over again and pull through the remaining two loops.

3 Str | Sdc cluster = Cl:
make 3 incomplete Str / Sdc stitches in the same back loop of dc / sc below, yarn 
over and pull through the all loops on hook.
For the 1 incomplete Str / Sdc, crochet the first four steps of the Str / Sdc stitch (see 
above).

Chain stitch = ch

Slip stitch = slt

Double crochet | Single crochet = dc/sc

Crochet hook 2.5 mm (C)    

Scheepjes Bamboo Soft,  50% Cotton / 50% Bamboo, 50 grams - 170 
meters, colors: 260, 265 

Double slipknot

Chain stitch

Crochet in back loops only 

Slip stitch

Double crochet | Single crochet

3 Str | Sdc cluster

1 2
turn



Step-by-step

- (color 265):  Make double slipknot. 
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1

- Make 4 chs with next color of yarn. 5
- Crochet 1 ch.2

- Make 10 dc/sc in slipknot and 1 slt in first ch.3 - Work in back loops only.6

- Pull the yarn tail to tighten the knot and turn.4

- Yarn over and pull through the all loops on 

hook.
8

- Work 1 Cl: make 3 incomplete Str / Sdc stitch-

es in the same back loop of dc / sc below.
7

turn!
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- Crochet 4 chs.9

- Make 1 slt in back loop the same dc/sc below 

and 1 slt in back loop of next dc/sc below.
10

- Repeat steps 7, 8, 9 & 10 four more times.11


